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' ' Answer any five questions’ o
All questions carry equal marks

1. The foci of an ellipse are 90 mm apart and the minor axis is 65 mm long.

* Determine the length of the major axis and draw half the ellipse with concentric-

circles method and the other half by oblong method. Draw a curve parallel to the
ellipse and 25 nim away from it. = " : o B

2. A ball thrown up in the air reaches a maximum height of 45 mm and travels a
horiz_ontal%distagce““cifﬁff“m“ﬁ;;_ Trace the path of the ball, assuming it to be

o
e,

parabolic. -

3. A line measuring 60 mmlong ha\oé;'_:i:tsﬂfone end 50 mm above H.P. and 15 mm in
“ front-of V.P, The other end is 20 mm above H.P, The front view of the ling is

50 mm long. Draw thé%x:_p'p_-\'}‘i;g!\yf‘.in_duf]: f)d.-;its'-"iﬁ”cilinations with both H.P, and V.P,

4.a) Two points' A and B-are mHP The point A is 30 mm in front of the V.P., while
- Bisbehind the V-P. The distance between their projections is 75 min and the line

joining theifltdﬁ v1eWsmakgs ”"‘a:g-ean_‘g;le of 45° with xy. Find the distance of the
point B from the VP, = ™ o

b). The top v1ewe>f]5 mm longAB ﬁieasures 65:mm, while the length of its front
View is 50 mm. Tts one end /A is in the HP. and 12 mm in front of the V.P. Draw
the projections of A@i'aﬁdf"ﬂafgfmine its inclinations with the H.P. and the V.P.

5.7 A square ABCD of 50 mm side has'its corner A in the H.P., its diagonal AC
inclined at 30 degrees to the H.P. and the diagonal BD inclined at 45 degrees to
the V.P. and parallel to the H.P. Draw its projections,

6. Draw the prqieéfions of a c.one, base 45 mm diameter and axis 50 mm lIong, when
it is resting on the ground on a point on its base circle with the axis making an
angle of 30° with the FLP. and its top view making 45° with the V.P.

7. A Hexagonal prism having the side of base .26 mm and .'the height of 60 mm is
' resting on one of the corner of the base and its axis is inclined at 30° to the HP.
Draw its projections and also prepare the isometric view of the prism in the above

stated condition.’




8. Draw the front, top and left hand side view of the figure. All dimensions are in
mm.




